[image: image1.jpg]1. The following able shows the amount f toaloutput produced from various combinaions of
labor and captl:
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5. Calciate the marginal product and average product o labor when capital s hekd constant
512 units, When theaverage product o abor i ncreasing, what s th reation between the.
average poduct and the mrginal procct? What about when the average product ofabor
s decreasing?

b, Calciate the marginl product ofabor for each evel o the caitalstock.How does the
marginl product of th second unitofabor change asthe capita tock increases? Why?

2. Astudy by the Computer Manufactures Asociationof America analyzed the signficant ncrease
nthe usageof computers b business firms inthe Urited Sttes over th st two decade.In
terms of poducton theory,one might saythe computerlbor ato s isen.

2. Using producton theory, provide a atonal ortis rend.
b, Given th alng prices ofbusiness computers,what types ofchanges in businessoffces
would you xpect o have accurred?

3. Gamma Corporation,one of the firms thatreainyou s  financial analyst i considering buying
out Beta Corporation, smll manufacturing frm that s now barely operting st proft. You
recommend the buyout becauseyou believe that new management coud subsantialy reduce
production costs,and thereby ncreas profit 103 uit attactv eve, You colct the folowing
product nformation i oder o convince the CEOat Gamma Corporation that Beta s ndeed
operaingneffcenty
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Explain how these data provide evidenceof inefficiency. How couldthe new manager of eta
Corporaton improve effency?




